

LIST OF COURSES WITH FEE STRUCTURE FOR FOREIGN STUDENTS: 2024-2025

S. No.	COURSE	DURATION	FEE FOR THOSE WHO QUALIFY THE ENTRANCE TEST (GENERAL CATEGORY) (Foreign Students Only)	FEE FOR THE APPLICANT UNDER SUPERNUMERARY SEATS (Foreign National & NRI Wards)	FACULTY/CENTRE/DEPARTMENT
			(Per Annum)	(Per Annum)	
1	2	3	4	5	6
		FACULT	1	IES & LANGUAGES	
1.	M.A.(Arabic)	2 years	US\$ 600	US\$ 2400	Department of Arabic
2.	B.A. (Hons.)(Arabic)	4 years	US\$ 600	US \$ 2400	Department of Arabic
3.	Advanced Diploma in Modern Arabic Language & Translation (Part Time)	2-Sem	US\$ 600	US \$ 1200	Department of Arabic
4.	Diploma in Modern Arabic Language & Translation (Part Time)	2-Sem	US\$ 600	US \$ 1200	Department of Arabic
5.	Certificate in Modern Arabic Language & Translation (Part Time)	2-Sem	US\$ 600	US \$ 1200	Department of Arabic
6.	M.A.(English)	2 years	US\$ 600	US \$ 2400	Department of English
7.	B.A.(Hons.)(English)	4 years	US\$600	US \$ 2400	Department of English

8.	P.G. Diploma in Translation Proficiency	2-Sem	US\$ 600	US \$ 1200	Department of English
9.	English (S/F-Part Time) Diploma in Translation Proficiency in English	2-Sem	US \$ 600	US \$ 1200	Department of English
10.	(S/F-Part Time) Certificate in Translation	2-Sem	US\$600	US \$ 1200	Department of English
	Proficiency in English (S/F-Part Time)		·		
11.	Certificate in Digital Humanities (S/F-Part Time)	2-Sem	US \$ 600	US \$ 1200	Department of English
12.	M.A. Korean Language & Literature	4-Sem	US\$ 600	US \$ 2400	Department of Foreign Languages
13.	B.A.(Hons) (Korean Language)	8-Sem	US \$ 600	US \$ 2400	Department of Foreign Languages
14.	B.A.(Hons) (Turkish Language & Literature)	8-Sem	US \$ 600	US \$ 2400	Department of Foreign Languages
15.	B.A. (Hons.) French & Francophone Studies	8-Sem	US\$ 600	US \$ 2400	Department of Foreign Languages
16.	B.A. (Hons.) Spanish & Latin American Studies	8-Sem	US\$ 600	US \$ 2400	Department of Foreign Languages
17.	Advanced Diploma in Turkish (Part Time)	1-Year	US \$ 600	US \$ 1200	Department of Foreign Languages
18.	Advanced Diploma in French (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
19.	Advanced Diploma in Italian (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
20.	Advanced Diploma in Spanish (Part Time)	1-Year	US \$ 600	US \$ 1200	Department of Foreign Languages
21.	Advanced Diploma in Russian (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
22.	Advanced Diploma in Portuguese (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
23.	Diploma in Turkish (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
24.	Diploma in French (Part	1-Year	US\$600	US\$ 1200	Department of Foreign Languages

	Time)				
25.	Diploma in Italian (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
26.	Diploma in Spanish (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
27.	Diploma in Russian (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
28.	Diploma in Chinese Language (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
29.	Diploma in Portuguese (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
30.	Diploma in Korean Language (Part Time)	1-Year	US \$ 600	US \$ 1200	Department of Foreign Languages
31.	Diploma in Uzbek (Part Time)	1-Year	US \$ 600	US \$ 1200	Department of Foreign Languages
32.	Intensive Diploma in Chinese Language	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
33.	Certificate in Turkish (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
34.	Certificate in French (Part Time)	1-Year	US \$ 600	US \$ 1200	Department of Foreign Languages
35.	Certificate in Italian (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
36.	Certificate in Spanish (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
37.	Certificate in Russian (Part Time)	1-Year	US \$ 600	US \$ 1200	Department of Foreign Languages
38.	Certificate in Chinese Language (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
39.	Certificate in Portuguese (Part Time)	1-Year	US \$ 600	US \$ 1200	Department of Foreign Languages
40.	Certificate in Korean Language (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
41.	Certificate in Uzbek (Part Time)	1-Year	US\$ 600	US \$ 1200	Department of Foreign Languages
42.	P.G. Diploma in Journalism (Hindi Medium)(Self-	1-Year	US\$ 600	US \$ 1200	Department of Hindi

	financed)				
43.	P.G. Diploma in TV Journalism (Hindi Medium)(Self-financed)	1-Year	US\$ 600	US \$ 1200	Department of Hindi
44.	P.G. Diploma in English- Hindi Translation (Self- financed)	1-Year	US\$ 600	US \$ 1200	Department of Hindi
45.	M.A.(Hindi)	2 years	US\$ 600	US \$ 2400	Department of Hindi
46.	M.A.(Mass Media Hindi) (Self-financed)	2 years	US\$ 600	US \$ 2400	Department of Hindi
47.	B.A.(Hons.)(Hindi)	4 years	US\$ 600	US \$ 2400	Department of Hindi
48.	B.A.(Hons.)(Mass Media Hindi)	4 years	US\$ 600	US \$ 2400	Department of Hindi
49.	M.A.(History)	2 years	US\$ 600	US \$ 2400	Department of History & Culture
50.	B.A.(Hons.)(History)	4 years	US\$ 600	US \$ 2400	Department of History & Culture
51.	M.A.(Islamic Studies)	2 years	US\$ 600	US \$ 2400	Department of Islamic Studies
52.	B.A.(Hons.)(Islamic Studies)	4 years	US \$ 600	US \$ 2400	Department of Islamic Studies
53.	M.A.(Persian)	2 years	US\$ 600	US \$ 2400	Department of Persian
54.	B.A.(Hons.)(Persian)	4 years	US\$ 600	US \$ 2400	Department of Persian
55.	Advanced Diploma in Modern Persian (Part-Time)	1-Year	US\$ 600	US \$ 1200	Department of Persian
56.	P.G. Diploma in Iranology (Part-Time)	1-Year	US\$ 600	US \$ 1200	Department of Persian
57.	Advanced Diploma in Pashto Language (Part-Time)	1-Year	US\$ 600	US \$ 1200	Department of Persian
58.	Diploma in Modern Persian (Part-Time)	1-Year	US\$ 600	US \$ 1200	Department of Persian
59.	Diploma in Pashto Language (Part-Time)	1-Year	US\$ 600	US \$ 1200	Department of Persian

60.	Certificate in Modern Persian (Part-Time)	1-Year	US\$600	US \$ 1200	Department of Persian
61.	Certificate in Pashto Language (Part-Time)	1-Year	US\$600	US \$ 1200	Department of Persian
62.	M.A. (Sanskrit)	2 years	US\$600	US \$ 2400	Department of Sanskrit
63.	B.A.(Hons.)(Sanskrit)	4 years	US\$ 600	US \$ 2400	Department of Sanskrit
64.	Certificate in Sanskrit (Part-Time)	2-Sem	US\$ 600	US \$ 1200	Department of Sanskrit
65.	M.A.(Urdú)	2 years	US\$ 600	US \$ 2400	Department of Urdu
66.	B.A.(Hons.)(Urdu)	4 years	US \$ 600	US \$ 2400	Department of Urdu
67.	P.G. Diploma in Urdu Mass Media	1-Year	US\$ 600	US \$ 1200	Department of Urdu
		I	FACULTY OF SO	CIAL SCIENCES	
68.	B.A.	4 years	US\$ 600	US \$ 2400	Faculty of Social Sciences
69.	M.Com.(Business Management)	2 years	US\$ 600	US \$ 2400	Department of Commerce & Business Studies
70.	B.B.A. (Bachelor of Business Administration)	5 years	US\$1800	US\$3600	Department of Commerce & Business Studies
71.	B.Com. (Hon.)	4 years	US\$ 600	US\$ 2400	Department of Commerce & Business Studies
72.	Master of Science in Banking and Financial Analytics (S/F)	2 years	US \$ 1800	US\$ 2400	Department of Economics
73.	M.A.(Economics)	2 years	US\$ 600	US \$ 2400	Department of Economics
74.	B.A. (Hons.)(Economics)	4 years	US\$600	US \$ 2400	Department of Economics
75.	M.A.(Human Rights & Duties Edu.)	2 years	US\$ 600	US \$ 2400	Department of Political Science
76.	M.A.(Political Science)	2 years	US\$ 600	US \$ 2400	Department of Political Science

77.	M.A.(Public	2 years	US\$ 600	US \$ 2400	Department of Political Science
	Administration)	-			
78.	B.A. (Hons.)(Political Science)	4 years	US\$ 600	US \$ 2400	Department of Political Science
79.	M.A.(Applied Psychology)	2 years	US \$ 600	US \$ 2400	Department of Psychology
80.	B.A. (Hons.)(Psychology)	4 years	US\$ 600	US \$ 2400	Department of Psychology
81.	Advance Diploma in Counseling Psychology (S/F)	1 year	US\$ 600	US \$ 1200	Department of Psychology
82.	M.A.(Human Resource Management)	2 years	US\$ 600	US \$ 2400	Department of Social Work
83.	Advance Diploma in Public Health	1 year	US\$ 600	US \$ 1200	Department of Social Work
84.	M.A.(Social Work)	2 years	US \$ 600	US \$ 2400	Department of Social Work
85.	B.A. (Hons.) Social Work	4 years	US\$ 600	US \$ 2400	Department of Social Work
86.	M.A.(Sociology)	2 years	US\$ 600	US \$ 2400	Department of Sociology
87.	B.A.(Hons.)(Sociology)	4 years	US \$ 600	US \$ 2400	Department of Sociology
88.	M.A.(Social Exclusion & Inclusive Policy)	2 years	US\$ 600	US \$ 2400	Centre for Study of Social Exclusion & Inclusive Policy
89.	M.A.(International Relations-West Asian Studies)	2 years	US \$ 600	US \$ 2400	Centre for West Asian Studies
90.	M.A./M.Sc. (Development Extension)	2 years	US\$ 600	US \$ 2400	Department of Adult & Continuing Education
91.	M.Lib.I.Sc. (Master of Library & Information Science) (Self-Financed)	1 year	US\$ 600	US \$ 2400	Dr. Zakir Husain Library
92.	B.Lib. I.Sc. (Bachelor of Library & Information Science) (Self-Financed)	1 year	US \$ 600	US \$ 2400	Dr. Zakir Husain Library
93.	PG Diploma in Preservation, Conservation and Digitization in	1 year	US\$ 600	US \$ 1200	Dr. Zakir Husain Library

	Libraries and Archives				
94.	M.A. (International Studies -Arab-Islamic Culture)	2 years	US \$ 600	US \$ 2400	Indo Arab Culture Centre
95.	M.A.(Politics: International & Area Studies)	2 years	US\$ 600	US\$ 2400	MMAJ Academy of International Studies
96.	M.A.(Conflict Analysis and Peace Building)	2 years	US\$600	US \$ 2400	Nelson Mandela Centre for Peace & Conflict resolution
97.	M.A.(Gender Studies)	2 years	US\$ 600	US \$ 2400	Sarojini Naidu Centre for Women Studies
98.	M.A. (Comparative Religions)	2 years	US\$ 600	US\$ 2400	Centre for Comparative Religions and Civilization
99.	M.A.(Media Governance)	2 years	US\$ 600	US \$ 2400	Centre for Culture Media & Governance
			FACULTY O	F SCIENCES	
100.	B.Sc.	4 years	US\$1800	US\$ 3000	Faculty of Sciences
101.	M.Sc.(Chemistry) Materials / Inorganic / Organic / Physical Chemistry)	2 years	US\$1800	US\$ 3000	Department of Chemistry
102.	B.Sc.(Hons.) Chemistry	4 years	US \$ 1800	US \$ 3000	Department of Chemistry
103.	M.Sc. Bio-informatics (S/F) Evening	2 years	US \$ 1800	US \$ 3000	Department of Computer Science
104.	M.Sc. A.I & M.L. (S/F)	2 years	US \$ 1800	US \$ 3000	Department of Computer Science
105.	M.C.A.(Master of Computer Application)	2 years	US\$ 1800	US \$ 3000	Department of Computer Science
106.	PG Diploma in Computer Application	1 year	US\$ 600	U \$ 1200	Department of Computer Science
107.	M.A./M.Sc.(Geography)	2 years	US \$ 1800	US \$ 3000	Department of Geography
108.	M.Sc. (Disaster Management and Climate Sustainability Studies)	2 years	US \$ 1800	US\$ 3000	Department of Geography
109.	PG Diploma in Remote Sensing, GIS Application	1 year	US\$ 600	US \$ 1200	Department of Geography
110.	B.A./B.Sc.(Hons.) (Geography)	4 years	US \$ 1800	US \$ 2400	Department of Geography

111.	PG Diploma in Disaster Management (S/F) Evening	1 year	US\$ 600	US \$ 1200	Department of Geography
112.	M.A./M.Sc.(Mathematics) (Self-financed)(Evening)	2 years	US \$ 1800	US \$ 3000	Department of Mathematics
113.	M.Sc. (Mathematics Education) under Meta University program	2 years	US\$ 1800	US \$ 3000	Department of Mathematics
114.	M.Sc.(Mathematics with Computer Science)	2 years	US \$ 1800	US\$3000	Department of Mathematics
115.	B.Sc.(Hons.) (Applied Mathematics)	4 years	US \$ 1800	US\$3000	Department of Mathematics
116.	B.Sc.(Hons.) (Mathematics)	4 years	US \$ 1800	US\$3000	Department of Mathematics
117.	M.Sc.(Physics)	2 years	US \$ 1800	US \$ 3000	Department of Physics
118.	M.Tech. Solid State Technology (S/F) Evening	2 years	US \$ 1800	US \$ 3000	Department of Physics
119.	B.Sc.(Hons.) (Physics)	4 years	US \$ 1800	US \$ 3000	Department of Physics
120.	B.Voc. (Solar Energy) S/F	4 years	US \$ 1800	US \$ 3000	Department of Physics
121.	M.Sc.(Biophysics)	2 years	US \$ 1800	US\$3000	Centre for Interdisciplinary Research in Basic Sciences
122.	B.Sc. Life Science with Computer Applications	4 years	US \$ 1800	US\$3000	Centre for Interdisciplinary Research in Basic Sciences
123.	M.Tech.(Nanotechnology) (Self-financed)	2 years	US \$ 1800	US\$3000	Centre for Nano - Science & Nanotechnology
124.	M.Sc. Virology (S/F)	2 years	US \$ 1800	US \$ 3000	Multi-Disciplinary Centre for Advance Research and Studies
			FACULTY OF L	IFE SCIENCES	
125.	M.Sc.(Biochemistry) (Self-financed, Evening)	2 years	US \$ 1800	US\$3000	Department of Bio-Sciences
126.	M.Sc.(Bioinformatics) (Self-financed, Evening)	2 years	US \$ 1800	US \$ 3000	Department of Bio-Sciences
127.	M.Sc.(Bioscience)	2 years	US \$ 1800	US \$ 3000	Department of Bio-Sciences
128.	M.Sc.(Microbiology) (Self-	2 years	US \$ 1800	US \$ 3000	Department of Bio-Sciences

	financed, Evening)				
129.	B.Sc.(Bioscience)	4 years	US\$ 1800	US \$ 3000	Department of Bio-Sciences
130.	Diploma in Unani Pharmacy	2 year	US\$ 600	US \$ 1200	Department of Bio-Sciences
131.	M.Sc.(Biotechnology)	2 years	US \$ 1800	US\$3000	Department of Bio-technology
132.	B.Sc.(Biotechnology)	4 years	US \$ 1800	US \$ 3000	Department of Bio-technology
			FACULTY OF	EDUCATION	
133.	M.A.(Educational Planning & Administration)	2 years	US \$ 1800	US \$ 3600	Department of Educational Studies
134.	M.Ed.	2 years	US \$ 1800	US \$ 3600	Department of Educational Studies
135.	M.A.(Early Childhood Development)	2 years	US \$ 1800	US \$ 3600	Department of Educational Studies
136.	PG Diploma in Educational Management (S/F)	1 year	US\$ 600	US \$ 1200	Department of Educational Studies
137.	M.A.(Education)	2 years	US \$ 1800	US \$ 3600	IASE
138.	M.Ed.(Special Education) Visual Impairment/ Learning Disability	2 years	US \$ 1800	US\$3600	IASE
139.	B.Ed.	2 years	US \$ 1800	US \$ 3600	IASE
140.	B.Ed.(Nursery Education)	2 years	US \$ 1800	US \$ 3600	IASE
141.	B.Ed.(Special Education) Visual Impairment	2 years	US \$ 1800	US \$ 3600	IASE
142.	B.Ed.(Special Education) Learning Disability	2 years	US\$1800	US\$ 3600	IASE
143.	Diploma in Elementary Education	2 years	US\$ 1800	US \$ 3600	IASE
		FACUL	TY OF ENGINEE	RING & TECHNOI	
144.	B. Tech. Electrical & Computer Engineering (S/F)		US\$1800	US\$3600	Faculty of Engineering & Technology
145.	B. Tech. Electronics (VLSI	4 years	US \$ 1800	US\$3600	Faculty of Engineering & Technology

	Design & Technology) (S/F)				
146.	B. Tech. Computer Science & Engineering (Data Sciences) (S/F)	4 years	US\$ 1800	US\$ 3600	Faculty of Engineering & Technology
147.	B.Tech.(Civil Engineering)	4 years	US \$ 1800	US \$ 3600	Faculty of Engineering & Technology
148.	B.Tech.(Computer Engineering)	4 years	US \$ 1800	US\$3600	Faculty of Engineering & Technology
149.	B.Tech.(Electrical Engineering)	4 years	US \$ 1800	US\$3600	Faculty of Engineering & Technology
150.	B.Tech.(Electronics & Communication Engg.)	4 years	US \$ 1800	US\$3600	Faculty of Engineering & Technology
151.	B.Tech.(Mechanical Engineering)	4 years	US \$ 1800	US\$ 3600	Faculty of Engineering & Technology
152.	M.Sc. Electronics	2 years	US \$ 1800	US\$3600	Department of Applied Sciences & Humanities
153.	M.Tech. (Energy Science and Technology) (Self-finance)	2 years	US \$ 1800	US\$3600	Department of Applied Sciences & Humanities
154.	M.Tech. in Computational Mathematics (Self-finance)	2 years	US \$ 1800	US\$ 3600	Department of Applied Sciences & Humanities
155.	M.Tech.(Earthquake Engineering)	2 years	US \$ 1800	US\$ 3600	Department of Civil Engineering
156.	M.Tech.(Environmental Science Engineering)	2 years	US \$ 1800	US\$ 3600	Department of Civil Engineering
157.	M. Tech. Data Sciences (S/F)	2 years	US \$ 1800	US\$3600	Department of Computer Engineering
158.	M.Tech.(Computer Engineering) AI & ML	2 years	US \$ 1800	US\$3600	Department of Computer Engineering
159.	M.Tech. Electrical Engineering: EPSM/CIS	2 year	US \$ 1800	US\$3600	Department of Electrical Engineering
160.	M.Tech.(Electronics & Communication Engineering)	2 years	US\$ 1800	US\$ 3600	Department of Electronics & Communication Engineering
161.	M.Tech.(Mechanical Engineering: Machine Design, Thermal Engg., Production and Industrial Engg.)	2 years	US \$ 1800	US\$3600	Department of Mechanical Engineering

162.	M.Sc. Environmental Science and Management (Regular/ Self Finance)	2 years	US \$ 1800	US\$ 3600	Department of Environmental Sciences
			UNIVERSITY P	OLYTECHNIC	
163.	Diploma in Civil Engineering	3 years	US \$ 1800	US \$ 3600	University Polytechnic
164.	Diploma in Computer Engineering	3 years	US \$ 1800	US \$ 3600	University Polytechnic
165.	Diploma in Electrical Engineering	3 years	US\$ 1800	US \$ 3600	University Polytechnic
166.	Diploma in Mechanical Engineering	3 years	US\$ 1800	US \$ 3600	University Polytechnic
167.	Diploma in Electronics & Comm. Engineering	3 years	US\$ 1800	US \$ 3600	University Polytechnic
			FACULTY	OF LAW	
168.	LL.M. (Regular)	2 years	US \$ 1800	US \$ 3600	Faculty of Law
169.	LL.M. (Self-finance)	2 years	US \$ 1800	US \$ 3600	Faculty of Law
170.	B.A. LL.B. (Hons.)	5 years	US \$ 1800	US \$ 3600	Faculty of Law
171.	B.A. LL.B. (Hons.) (Self-financed)	5 years	US \$ 1800	US\$ 3600	Faculty of Law
172.	PG Diploma in Labour Laws (S/F)	1 year	US\$ 600	US \$ 1200	Faculty of Law
173.	PG Diploma in Air & Space Laws (S/F)	1 year	US\$ 600	US \$ 1200	Faculty of Law
		FACU	LTY OF ARCHIT	ECTURE & EKISTI	ICS
174.	M. Arch. Architecture Pedagogy	2 years	US \$ 1800	US \$ 3600	Department of Architecture
175.	M. Arch. Building Service	2 years	US \$ 1800	US\$ 3600	Department of Architecture
176.	M. Arch. Healthcare Architecture	2 years	US \$ 1800	US \$ 3600	Department of Architecture
177.	M. Arch. Recreational Architecture	2 years	US\$ 1800	US \$ 3600	Department of Architecture
178.	M. Arch. Urban	2 years	US \$ 1800	US\$3600	Department of Architecture

	Regeneration				
179.	M. Arch. Ekistics	2 years	US\$1800	US\$ 3600	Department of Architecture
180.	Master of Design (M. Design)	2 years	US\$1800	US\$ 3600	Department of Design & Innovation
181.	Master of Design (M. Design) (S/F)	2 years	US\$1800	US\$ 3600	Department of Design & Innovation
182.	Master of Planning (M.Plan.)	2 years	US\$1800	US\$ 3600	Department of Planning
			FACULTY O	F FINE ARTS	
183.	M.F.A. Applied Arts	2 years	US \$ 1800	US\$ 3600	Department of Applied Arts
184.	B.F.A. (Applied Art)	4 years	US\$1800	US\$3600	Department of Applied Arts
185.	M.F.A.(Art Education)	2 years	US \$ 1800	US \$ 3600	Department of Art Education
186.	B.F.A. (Art Education)	4 years	US \$ 1800	US \$ 3600	Department of Art Education
187.	M.F.A.(Art History & Art Appreciation)	2 years	US \$ 1800	US \$ 3600	Department of Art History & Art Appreciation
188.	M.F.A.(Painting)	2 years	US\$1800	US\$ 3600	Department of Painting
189.	B.F.A. (Painting)	4 years	US\$1800	US\$ 3600	Department of Painting
190.	M.F.A.(Sculpture)	2 years	US\$1800	US\$ 3600	Department of Sculpture
191.	B.F.A. (Sculpture)	4 years	US\$ 1800	US \$ 3600	Department of Sculpture
192.	M.F.A.(Graphic Art) Print Making	2 years	US\$1800	US\$3600	Department of Graphic Arts
		FAC		AGEMENT STUDIE	S
193.	MBA (Healthcare and Hospital Management)	2 years	US \$ 1800	US \$ 3600	Department of Hospital Management and Hospice Studies
194.	MBA (Pharmaceutical Management) Regular	2years	US \$ 1800	US\$3600	Department of Hospital Management and Hospice Studies
195.	MBA (Pharmaceutical Management) S/F	2years	US \$ 1800	US\$3600	Department of Hospital Management and Hospice Studies

196.	M.B.A.(Executive) (Self-financed/part-time)	2 years	US \$ 1800	US\$3600	Department of Management Studies
197.	M.B.A.(Full Time)	2 years	US \$ 1800	US\$3600	Department of Management Studies
198.	M.B.A.(International Business) (Self-financed)	2 years	US \$ 1800	US \$ 3600	Department of Management Studies
199.	M.B.A. Entrepreneurship & Family Business	2 years	US\$1800	US\$3600	Department of Management Studies
200.	Master (Tourism and Travel Management) (MTTM) (Self-financed)	2 years	US\$1800	US\$3600	Department of Tourism & Hospitality Management
201.	B.Voc. in Food Production (Self-Finance)	4 years	US \$ 1800	US\$ 3600	Department of Tourism & Hospitality Management
202.	Bachelor of Hotel Management (BHM) (S/F)	4 years	US\$1800	US\$3600	Department of Tourism & Hospitality Management
203.	Bachelor of Tourism and Travel Management (BTTM) (Self-financed)	4 years	US\$1800	US\$ 3600	Department of Tourism & Hospitality Management
204.	PG Diploma in Tourism, Travel Management (S/F)	1 year	US \$ 600	US\$ 1200	Department of Tourism & Hospitality Management
		AJK MASS	COMMUNICAT	ΓΙΟΝ RESEA	RCH CENTRE
205.	M.A.(Convergent Journalism) (Self-financed)	2 years	US\$3000	US\$4800	Centre
206.	M.A.(Development Communication) (S/F)	2 years	US\$3000	US\$4800	AJK-Mass Communication Research Centre
207.	M.A.(Mass Communication)	2 years	US\$3000	US\$4800	AJK-Mass Communication Research Centre
208.	M.A.(Visual Effects & Animations) (S/F)	2 years	US\$3000	US \$ 4800	AJK-Mass Communication Research Centre
209.	PG Diploma in Broadcast Technology (S/F)	1 year	US\$3000	US \$ 4800	AJK-Mass Communication Research Centre
210.	PG Diploma in Still Photography (S/F)	1 year	US\$3000	US \$ 4800	AJK-Mass Communication Research Centre
211.	PG Diploma in Acting (S/F)	1 year	US\$3000	US\$4800	AJK-Mass Communication Research Centre
		RE FOR PHYS	SIOTHERAPY (& REHABILI	TATION SCIENCES
212.	B.P.T. Bachelor of Physiotherapy	4 ½ years	US \$ 1800	US\$ 4200	Centre for Physiotherapy & Rehab. Sciences

213.	Master of Physiotherapy	2 years	US \$ 1800	US \$ 4200	Centre for Physiotherapy & Rehabilitation Sciences
	(M.P.T.) (Sports/				
	Orthopedics/				
	Cardiopulmonary/ Neurology)				
214.	B.Voc (Medical Laboratory	4 years	US \$ 1800	US\$3000	Deen Dayal Upadhyay Kaushal Kendra
	Sciences/Medical				
	Electrophysiology)				
	CEN	TRE FOR INN	NOVATION .	AND EMTRE	PRENEURSHIP
215.	PG Diploma in	1 year	US\$ 600	US\$ 1200	Centre for Innovation and Entrepreneurship
	Entrepreneurship,	J			•
	Innovation, Design Thinking				
	(S/F)				

 $Note: Please see the \ University \ Prospectus \ on \ the \ website \ \underline{www.jmicoe.in} \ for \ details \ and \ eligibility \ criteria.$